RESOLUTION 190-22

RESOLUTION AWARDING CONTRACT FOR THE PURCHASE OF FIRE DEPARTMENT TURN OUT GEAR

WHEREAS, there is a need to purchase Turn Out Gear for the Fire Department for the Borough of Clayton, County of Gloucester, State of New Jersey; and

WHEREAS, this can be purchased through State Contract #17-fleet-00810; and

WHEREAS, the amount of the purchase price is \$21,882.00 for the Fire Department Turn Out Gear.

WHEREAS, Donna Nestore, Chief Financial Officer of the Borough of Clayton certifies that sufficient funds have been appropriated and are available to cover this contract. The funds are available by virtue of an appropriation in Bond Ordinance 13-2022; and

WHEREAS, public bids are not required when the purchase is under a state contact in accordance with 40A:11-12 of the Local Public Contracts Law.

NOW, THEREFORE, BE IT RESOLVED, by the Mayor and Council of the Borough of Clayton, that MES – Municipal Emergency Services of Poughkeepsie, New York, be and hereby is awarded the Contract for the purchase of Fire Department Turn Out Gear for total amount of \$21,882.00 and in accordance with the terms and conditions set forth in the specifications promulgated by the Borough of Clayton; and

BE IT FURTHER RESOLVED that the Mayor and Clerk be and hereby are authorized to execute said Contract.

ADOPTED at a meeting of the Mayor and Council of the Borough of Clayton, County of Gloucester, and State of New Jersey held on September 8, 2022.

BOROUGH OF CLAYTON

THOMAS BIANCO, Mayor

ATTEST:

CHRISTINE NEWCOMB, Municipal Clerk

CERTIFICATION

I, Christine Newcomb, Municipal Clerk of the Borough of Clayton, in the County of Gloucester, do hereby certify that the foregoing Resolution was presented and duly adopted by the Borough Council at a meeting of the Borough of Clayton held on Thursday, September 8, 2022.

CHRISTINE NEWCOMB, Municipal Clerk



66 Firemens way Poughkeepsie NY 12603 United States

Bill To

CLAYTON VOL. FIRE DEPT. (NJ) 107 W HIGH STREET Clayton NJ 08312

Quote

Quote #

QT1594582

Date

06/27/2022

Expires

08/08/2022

Sales Rep

Bates, William E

Shipping Method

FedEx Ground

Customer

CLAYTON VOL. FIRE DEPT. (NJ)

Customer #

C33396

Ship To

Dave Rehm

CLAYTON VOL. FIRE DEPT. (NJ)

107 W. HIGH STREET CLAYTON NJ 08312

United States

item a grandation	Alt. Item#	Units Description	OTY	Jhit Price 4	Amount was easy
HFRP Tail Coat	LTO36I3TK	LTO36/3TK HFRP Tail Coat Honeywell Morning Pride Advance Soft Khaki Coat with all standard Clayton FD features per spec with zipper spec id NJCLAY00020	6	\$1,650.00	\$9,900.00
HFRP Tail Pant	LTO36 3PK	LTO36I3PK HFRP Tail Pant Honeywell Morning Pride Advance Soft Khaki Pants with all standard Clayton features including dyna fit reflective suspenders per spec NJCLAY00019	6	\$1,111.00	\$6,666.00
3049298	The same of the sa	Carbon Shield (Carbon X) COBRA Ultimate Fire Fighting Hood	6	\$40.00	\$240.00
X2-Hybrid-L		MES Custom X2 Hybrid Certified NFPA 1971-2018 Edition Structural Glove	6	\$90.00	\$540.00
MESRescue2-L		MES Exclusive Rescue Glove HI-ViS Lime Green Size: Large	6	\$44.00	\$264.00
FDXLM80-10-Med		MES/FDX LEATHER BOOT - SERIES 80 - 10 Med	6	\$388.00	\$2,328.00
1910F254		1910™ Standard Helmet Goggles (Innerzone 3) & Flip Downs - Black	6	\$280.00	\$1,680.00
SAM BROWN SHIELDS	FRONT	FRONT Custom SAM BROWN SHIELDS 6" Leather Helmet Front Black in color per Clayton FD FF spec	6	\$44.00	\$264.00

HFRP NJ State Contract 17-fleet-00810

Quote #: 83084NJCLAY Specid: NJCLAY00019 Specid: NJCLAY00020

Firedex Nj State Contract 17-fleet-00811

Subtotal \$21,882.00

Shipping Cost

\$0.00

Tax Total

\$0.00

Total

\$21,882.00

This Quotation is subject to any applicable sales tax and shipping & handling charges that may apply. Tax and shipping charges are considered estimated and will be recalculated at the time of shipment to ensure they take into account the most current information.

All returns must be processed within 30 days of receipt and require a return authorization number and are subject to a restocking fee.

Custom orders are not returnable. Effective tax rate will be applicable at the time of invoice.





66 Firemens way Poughkeepsie NY 12603 United States

Bill To

CLAYTON VOL. FIRE DEPT, (NJ) 107 W HIGH STREET Clayton NJ 08312

Quote

Quote #

QT1594582

Date

06/27/2022

Expires

08/08/2022

Sales Rep

Bates, William E

Shipping Method

FedEx Ground

Customer

CLAYTON VOL. FIRE DEPT. (NJ)

Customer #

C33396

Ship To

Dave Rehm

CLAYTON VOL. FIRE DEPT. (NJ)

107 W. HIGH STREET CLAYTON NJ 08312

United States

tem	Alt. Item#	Units Description	OTY	Unit Price	Amount
HFRP Tail Coat	LTO36/3TK	LTO36/3TK HFRP Tail Coat Honeywell Morning Pride Advance Soft Khaki Coat with all standard Clayton FD features per spec with zipper spec id NJCLAY00020	6	\$1,650.00	\$9,900.0
HFRP Tail Pant	LTO36I3PK	LTO36I3PK HFRP Tail Pant Honeywell Morning Pride Advance Soft Khaki Pants with all standard Clayton features including dyna fit reflective suspenders per spec NJCLAY00019	6	\$1,111.00	\$6,666.00
3049298		Carbon Shield (Carbon X) COBRA Ultimate Fire Fighting Hood	6	\$40.00	\$240.00
X2-Hybrid-L		MES Custom X2 Hybrid Certified NFPA 1971-2018 Edition Structural Glove	6	\$90.00	\$540.00
MESRescue2-L		MES Exclusive Rescue Glove HI-VIS Lime Green Size: Large	6	\$44.00	\$264.00
FDXLM80-10-Med	an a	MES/FDX LEATHER BOOT - SERIES 80 - 10 Med	6	\$388.00	\$2,328.00
1910F254		1910™ Standard Helmet Goggles (Innerzone 3) & Flip Downs - Black	6	\$280.00	\$1,680.00
SAM BROWN SHIELDS	FRONT	FRONT Custom SAM BROWN SHIELDS 6" Leather Helmet Front Black in color per Clayton FD FF spec	6	\$44.00	\$264.00
HFRP NJ State Contract 17-fleet-00810				Subtotal	\$21,882.00

Quote #: 83084NJCLAY Specid: NJCLAY00019

Specid: NJCLAY00020 Firedex Nj State Contract 17-fleet-00811 Subtotal

Shipping Cost

\$0.00

Tax Total

\$0.00

Total \$21,882.00

This Quotation is subject to any applicable sales tax and shipping & handling charges that may apply. Tax and shipping charges are considered estimated and will be recalculated at the time of shipment to ensure they take into account the most current information.

All returns must be processed within 30 days of receipt and require a return authorization number and are subject to a restocking fee.

Custom orders are not returnable. Effective tax rate will be applicable at the time of invoice.

